A = $ X T2 (m2)

5 of &t 210,000
1 OFXtAHZ 379 BT Ob& 100 10,000
2 OfXtAHE 344 BT Ob& 120 7,200
3 SUZ 451~453 &= 90 5,400
4 HAHdin ST B Iob& 94 5,640
5 LR E 570 HE IO 91 18,200
6 L2 71~73 HE IO 194 42,680
7 OfXtAMZ 333~343 120 7,200
8 HZZ 159 90 19,800
9 MZLHE 556 8 1,200

552 373 100 6,000
TolFFA 100 22,000
HEZ 76 20 1,200
SO 74 80 4,800
SS2Z 179-1 40 2,400
SMZ 612 25 1,500
SYZ 379 48 3,840
SUZ 397 HE I 54 3,240
SLER 622 | RE=2F Ot 100 6,000
TAHY 3= ThM EH 20 3,400
TAHY 5= oM EH 8 1,360
ZLIZZ 375-1 2E Hl 60 12,900
OZlo|tiS® == |  EA FH| 10 1,700
OfZIo|Iiz & E& | T FH| 12 2,040
TAHY 2=+ ThM EH 10 1,700
E£MZ 623 BT Ob& 20 1,200
S Y= 381 HE okE 55 4,400
=2 385 BT Ob& 55 4,400
SUZ 427 BT O 115 6,900
HMZLOHE 612 I HH| 10 1,700
SYUZ 302~306 H4 O 40m 2,800




